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SECTION 5 CYCLICAL REDUNDANCY CHECK
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5.1 Convention
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The CRC follows the basic CCITT convention by
starting with the most significant byte, least
significant bit and applying the CRC polynomial
xM16+xM12+xM5+1.
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Figure 5.1 details a fast CRC calculating routine from
the public domain.
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The routine can be used to generate message CRCs as
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well as the variable-seed calculation needed for ROM
signatures.
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//Function: CRC

//Purpose: Calculate the 16-bit CRC of a string using

// a byte-oriented tableless algorithm. The

// routine inputs are the buffer pointer, the

// buffer length, and the seed for the

// calculation. The magic number 010201 octal

// 1s derived from the CRC polynomial

// x"16+x"12+x"5+1.

//Passed in: unsigned char,

//Passed out: unsigned short

unsigned short CRC (unsigned char *s,
short crcval)

int, unsigned short

int len, unsigned

{

register unsigned c,q;

for (; len; len--)
{
c = *s++;
g = (crcval ~ c¢c) & 017;
crcval = (crcval >> 4) ~ (g * 010201);
g = (crcval © (c >> 4)) & 017;
crcval = (crcval >> 4) ~ (g * 010201);

return (crcval);
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5.2 Host and Gaming Machine CRC Generation
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The host calculates a CRC for all type S, type M and
type G long polls.
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The CRC is calculated over the entire packet,
including the address and command byte, with an
initial seed value of zero.
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The gaming machine calculates the CRC in the same
manner for all multi-byte long poll responses, except
game busy.
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